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1) Anobject is dropped straight down from a helicopter. The object falls faster and faster but its
acceleration decreases over time because of air resistance. The acceleration is measured in
ft/5602 and recorded every second after the drop for 5 seconds. Use the data below tofind a
lower estimate for the speed at time 1 =5

[ |0 1 2 3 4 5
a z 32.00 1941 11.77 7.14 433 2.63

|

Seeen > (1) ()‘(.4t+u.77+7,1°| + ‘/,234&.253)

- 45 28 Ft/4

1 1 1
2) Write the sum 1~5+§——+— in sigma notation
5
o IcH

~r’

-1
l %

k=l



&

Instructor: Grgndahl

50 ,
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4) Find a formula for the Riemann sum of f(x)=x+x" obtained by dividing the interval [0,1]

into 7 equal subintervals and using the right-hand endpoint for ¢, . Then take the limit as

n — o to calculate the area under the curve.
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5) Express lim
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Ax, where P is the partition of [2,3] as a definite integral.

6) Assuming If(x)dx =—4, Jf(x)dx =6 ,and jg(x)dx =8 find Js-f(x)dx
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7) Use known area to find j\/9—x2dx
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10) Evaluate | —————dx (A:\)
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12) Find the area enclosed by y = x” and y = —x” + 4x
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